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Energy In Class Review p2

31. Can a simple machine ever have an efficiency greater than 1009%? Why or why not?

Against Law of Conservation of Energy. Means getting more E out than vou put in.

Yy P \/\ 32. Africtionless ramp is inclined at 20°. An object going 6 m/s slides up.
A) Find the final height of the object.
: 1 Em By B 1 (6 =10k b= [%m
j |/' 30° o g e £ / < _ b Note: Since you are looking for height fwhich is
J—WZ = ng Ly Ji (3é> =B vertical) you don't care about the ramp's angle.
. 1T =10 I Ep will give you h.
B) How far up the ramp does it roll? . offP 34z R = 1.3 il
how far up ramp "Iz the hypo. h iz opp. the gin 20 = ey - W= 1B = 5.50m
angle, 30 use sin. LY el

33. A person pushes down on a lever 3.2 meters to lift a 850 N object
0.25 meters up. The person pushes down on the lever with 70 N of force.

Find the efficiency of the lever. 70N 5L
: o FEEY :
You put in work to get out Ep. R FJ:‘J}’O(E.?JF 2 sl L_—Efg e —
So, Win = Fd and Wout = mgh ' sl ggp(,ggj:’gw&j’ Lok
Remember thatm = 85kg OR  Wost = EF T "
realize that mg = the weight of = ,25 k7
the object, which = 850 N. EFF = M :_Zﬁi = qs )" [
W zzy
34. A 1.2 kg rock is dropped from 20 meters. The rock is going only 15 m/s just before it hits the ground because of
air friction.
- = 3§ +7CoF
A) How far does friction act on the rock? ‘2.e»- El” - = Ek_ 2 = |
24013 N e o F

B) How far does the rock drop? z¢

5 At _ L &
C) Does all of the Ep turn into Ek? Me (Frictiond  pgh —Fa==2mV o & =98 B
D) Does friction add orlsubtractenergy? "W don't coancel |
5 o . 5 Ao =2 i
E) Find the force of air friction on the rock. ez — ] V(|55 5V = P
== iZ 5
For dropped objects the height for Ep (k) is the same as the Tz [w‘)[‘ZD} -F tzo\ = [1 (|5
distance for friction (W= Fd). Soh=d =20m 2Up —zok = 135
T potice: Joss By
35. A 6 kg object going 2 m/s speeds up to 7 m/s due to a4 N force. than Ep doe o friction

A) How many meters does the force act? e sl ) B) What is the acceleration of the object?
w4 dis By B lvias o F=m3 a= Y= [99)q
Ly

o i z |—L+LI|A:|J—]:1L’ = &2
L S e i W3-z 35 * (o covld have used

2z~ S - -
L(eyer y (=T 4T TN a3asm a kinemstic eg)
36. A 4 kgmass going 6 m/s stops by compressing a spring 1.3 meters. Find the spring constant of the spring. (VEO)
(VEO—variables and equation only. Give equations, put in numbers, and do not solve.)

E?— = ?EC] /. J{H(é?_):‘J—Z k(|:3>1 ylis cance] L}{ét): k(].32>
R §+b(p {VE®o) solution (forthe |y = TAr L4 v
“ This is all you need if Iwrite VEO. curious) = l"“‘% Lq = Y8 L /m
37. A5 kg object is dropped from 30 meters up. How fast is it going 10 meters above the ground? (VEO)
EF = EP-}’ Ew ,;mg;'ﬂb: mglqﬂJr < mv® sozmon: m'$ Cj?ﬁfi Yoo = v
_ oo = 16b F 7 2
10 m above the ground it has B A B zols
Ep and since it's moving it 3 (W‘)go =s(19)10* =2 Z00 =2 VT
also has Ek. DONE: VECQ Force vs. Distance
16
38. A3 kgobject is originally at rest is pushed on by the force 14
shown on the graph at the right. 5
A) Find the work done on the object in the first 10 m. &1
L3 T ————— —————
w=Fd 2
B) Find the final velocity of the object. 4
— 2
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